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Tem Ngything _ Diém:___
(—2)> +2= 9 +(—6) =
82 +(—5) = (6" —(=6) =
(—3)7? + (—4) = 22 +(-10) =
6—4= (1) —4=
1+ (3) = (~4) +(=5) =
(=7 =5= (6)° —(-9) =
DY —(=2)= 10°-1=
52 41 = (—5) P +7=
(-8)" +(-10) = 3= (-5 =
52 +(-8) = 602 +3=
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S6 hoc ctia s6 mil (SO mil &m)

(72)° +2=6
8> +(=5) =59

B+ ()= (3= (35)
6-4=2
1+ (3)=(2)
(-7)° —5=44
D= =1
26 1

(24120 1L
> 25 25

(—8) + (—10) = 54

5 +(-8)=17

Ngay thang: Piém:

- 53 8
IV +(6) = (-5)=(53)

6D — (=)= > = 52
O - (6= -5

2° +(=10) = (-6)
(-1)> —4=(-3)
() +(=5)=(9)
(—6)* — (-9) = 45

10° —1=199
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